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الطول'AB'النظام'المتري

ما'أفضل'تقدير'لطول'مشبك'الورق'؟١

٠٫٣%كلمد٠٫٣%مج٣%سمب٣%ملمأ

'ما'وحدة'الطول'المترية'المناسبة'لقياس'طول'كتاب'الرياضيات'؟٢

الكيلو%متردالمترجالسنتمتربالملمتر%أ
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الكتلة'والسعة'AB'النظام'المتري

%%%%%%%%%%%%ما%الوحدة%المناسبة%لقياس%سعة%كوب%العصير%المجاور%؟١

الجرامدالملجرامجاللتربالمللترأ

''أي'مما'يأAa'تقدر'كتلته'بكيلو'جرام'واحد'تقريبًا'؟٢

المقعد%المدرسيدقلم%الحبرجكتاب%الرياضيات%بدفتر%الملاحظاتأ
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يقدر'ياسر'طول'كل'ثلاث'خطوات'من'خطواته'بمترين'تقريبًا'' ١
فكم'من'خطواته'تعادل'مسافة'١٥٠'م'؟

٢ 

خطة'حل'المسألة'استعمال'مقياس'مرجعي

انظر'إno'النمط'المرسوم'أدناه'
ما'محيط'الشكل'الذي'يلي'الشكل'الأخير

الحل

الحل
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إذا'كانت'كتلة'مشعل'٢٥٩٠٠'جرام'،'فما'كتلته'بالكيلو'جرام'؟١

٢٥٩٠%كجمد٢٥٩%كجمج٢٥٫٩%كجمب٢٫٥٩%كجمأ

٢
كتلة'كيس'الطحين'٢'كجم'،'

فإذا'كانت'الكعكة'الواحدة'تحتاج'إno'١٠٠'جم'من'الطحين''
فكم'كعكة'يمكن'عملها'من'هذا'الكيس'؟

التحويل'بين'الوحدات'AB'النظام'المتري


